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)
BEE=s| 348202011 8) 97 1200 174 | 260,000 260,000
BEE=s| 3488 MH22201018) 97 700 174 | 145,000 145,000
BEE=s| 328 8M222011(28) 97 1080 174 | 235,000 235,000
BEE=s| 348 8M222013(18) 97 300 = 65,000 65,000
BEE=s| 34882220142 8) 97 350 = 72,500 72,500
BEE=s| 3488 M22201528) 97 540 1748 | 117,500 117,500
BEE=s| 348 H20202(18) 97 1400 174 | 290,000 290,000
BEE=s| 3488 MH222021(18) 50 192 = 40,000 40,000
BEE=s| 3488 H222022(18) 50 240 = 50,000 50,000
BEE=s| 348 8H222023(18) 50 384 = 80,000 80,000
BEE=s| 32882220241 8) 50 480 17H& | 100,000 100,000
BEE=s| 32882220251 8) 50 576 17HE | 120,000 120,000
BEE=s| 34882220261 8) 50 720 17HE | 150,000 150,000
BEE=s| 328 8H222027(18) 50 768 170g | 160,000 160,000
BEE=s| 3488 H222028(118) 50 960 170E | 200,000 200,000
BEE=s| 3248222031 8) 97 2160 17H& | 470,000 470,000
BEE=s| 3488 H22203018) 50 1200 170E | 250,000 250,000
BEE=s| 328 8MH222031(18) 122 2160 17HE | 450,000 450,000
BEE=s| 3288 H222032(18) 122 2700 1708 | 562,500 562,500
BEE=s| 34882220331 8) 122 2430 17HE | 506,250 506,250
BEE=s| 35882220341 8) 122 1890 17HE | 393,750 393,750
BEE=s| 328 8H22203518) 122 1620 170E | 337,500 337,500
BEE=s| 34882220361 8) 122 1350 1708 | 281,250 281,250
BEE=s| 328 8H222037(18) 122 1080 1708 | 225,000 225,000
BEEH=g| 2588 M2220{3818) 122 810 170E | 168,750 168,750
BEEH=g| 25882220391 8) 122 540 170E | 112,500 112,500
BEE=g| 3598 M2220{408) 122 270 17hE 56,250 56,250
BE=g| 3248 H20=20518) 97 900 170 | 195,000 195,000
BEE=g| 3248 H2220618) 97 1050 170E | 217,500 217,500
BEE=g| 32 4.8H29207(18) 97 1620 170E | 352,500 352,500
BEE=g| 3248 H222091s) 97 600 170 | 130,000 130,000
HE=s =59 8113@s) 122 720 170E | 150,000 150,000
HE=s =58, 810@s) 122 360 %= 75,000 75,000
HE=s =% B11ELS) 122 1560 170 | 320,000 320,000
HE=s =% 8212(318) 122 1950 170H€ | 400,000 400,000
HE=s =% 213(318) 122 1170 170 | 240,000 240,000
HE=s =59 814312 8) 122 780 170 | 160,000 160,000
HEEs =% 8153 18) 122 390 %= 80,000 80,000
HE=s =49 8318 122 540 170E | 112,500 112,500
HE=s =49 8428 122 360 %= 75,000 75,000
HE=s =59 528) 122 180 %= 37,500 37,500
HE=s =59 86(28) 122 1440 170 | 300,000 300,000
HE=s =594 E8728) 122 1800 1708 | 375,000 375,000
HE=s =49 82 8) 122 1080 1708 | 225,000 225,000
HE=s =49 8928 122 720 170E | 150,000 150,000
H&EEs AE El=s1(2s) 50 1560 170 | 350,000 350,000
H&EEs QIR #El=E11(28) 50 1560 170 | 280,000 280,000
H&EEs QI #Bl=E12(18) 50 1170 170 | 210,000 210,000
H&EEs AE F2=813(18) 50 780 170 | 140,000 140,000
H&EEs QIR Bl =514(28) 50 390 170 g 70,000 70,000
H&EEs QI #Bl=&15(18) 50 1950 170 | 350,000 350,000
H&EEs QI +2l=&16(1S) 50 1560 170E | 315,000 315,000
HE=s QI #Bl=&17(28) 50 1170 1748 | 236,250 236,250
H&Es QIE +2=518(18) 50 780 1748 | 157,500 157,500
HE=s QIR #2l=&19(18) 50 390 174 78,750 78,750
HE=s QIR F2lE=82(18) 50 1170 748 | 262,500 262,500
HE=s QI #2l=&20(18) 50 1950 170 | 393,750 393,750
H&Es QE F2l=821(1S) 50 1220 1748 | 280,000 280,000
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QE FEl=822(18)
QE F2l=823(18)
QE F2l=824(18)
QlZ F2l=825(18)
QlZ F2l=526(15)
QE Fel=827(18)
QlZ F2l=528(1S)
QlE F2l=829(1S)
Q2 elE=s3(1s)
QlZ F2l=530(1S)
QIZ F2l=831(28)
QIE F2l=832(18)
QIZ F2l=533(18)
QI Z F2l=834(18)
QlZ F2l=535(18)
QI Z F2l=536(15)
QIZ F2l=837(18)
QlZ F2l=538(1S)
QI Z F2l=539(1 )
Q2 elE=s4(s)
QlZ F2l=540(18)
QIZ F2l=541(28)
Q2 El=E42(18)
QI8 2l=E43(18)
Q2 2l=E44(18)
Q2 2l=E45(18)
Q2 2l=E46(1S)
Q2 2l=E47(1S)
Q2 2l=E48(1S)
QI8 2l=E49(1S)
QI8 +2l=E50(1S)
Q2 2l=E51(1S)
QI8 2l=E52(18)
QI8 2l=E53(18)
QI8 El=E54(1S)
Q2 2l=E55(18)
Q2 2lE=E56(1S)
QI8 2lE=E57(1S)
Q2 +2l=E58(18)
QI8 +2E=E591S)
Q2 2lE=56(1s)
Q2 +2l=E60(1S)
Q2 elE=s7(as)
QI8 2l=58(1s)
Q2 2lE=s9s)
2 NeuE0 #et HE
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915
610
305
1525
1220
915
610
305
780
1525
1220
915
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1525
1220
915
610
305
390
1525
1320
990
660
330
1650
1320
990
660
330
1650
1320
990
660
330
1650
1320
990
660
330
1560
1650
1170
780
390
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174
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174
17H &
17H &
17H &
17H &
17H &
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17H &
17H &

2024 12€ 174

210,000 210,000
140,000 140,000
70,000 70,000
350,000 350,000
140,000 140,000
105,000 105,000
70,000 70,000
35,000 35,000
175,000 175,000
175,000 175,000
224,000 224,000
168,000 168,000
112,000 112,000
56,000 56,000
280,000 280,000
252,000 252,000
189,000 189,000
126,000 126,000
63,000 63,000
87,500 87,500
315,000 315,000
300,000 300,000
225,000 225,000
150,000 150,000
75,000 75,000
375,000 375,000
150,000 150,000
112,500 112,500
75,000 75,000
37,500 37,500
187,500 187,500
240,000 240,000
180,000 180,000
120,000 120,000
60,000 60,000
300,000 300,000
270,000 270,000
202,500 202,500
135,000 135,000
67,500 67,500
175,000 175,000
337,500 337,500
131,250 131,250
87,500 87,500
43,750 43,750
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[EX] M18Z A4 ]

ugH S A=
(H8= 2Hl)

2024 128 17 A

g =] el |[sazaz| mE | WEH| 7|EFAH| ZDEH|
2y g @eh | @ | | @ [ 5. [ 3] @
B (&)

&= DSIHYH0F) 122 300 0 | 65,000 [2o)mAH 4,000 | 65,000
BE&Es| 1S5IFYL0F) 122 330 HY | 72,500 |2o|AH 5,000 | 72,500
HEE=E| 1535:AE@1L) 122 270 7HE | 58,750 |Zo|LDAH| 6,000 | 58,750
BE&Es| 1S5IFYLRF) 122 600 70 | 130,000 | 2] AH 10,000 | 130,000
B&=s| DSIFYEEF) 122 1,500 | 1702 | 145,000 | 2o|TAF| 12,000 | 145,000
E&Es| 1S5IFYEE3) 122 1,200 | 17H€ | 117,500 |=olmAH| 15,000 | 117,500
B&Es| DSIFYUYET) 122 1,400 | 17H€ | 195,000 |=o|1AF| 18,000 | 195,000
BE&Es| 1S5SIFYLYEF) 122 1,200 | 17H€ | 217,500 |=olmAH| 23,000 | 217,500
B&=2| 252499E3) 122 900 1708 | 176,250 176,250
BE=s| 15349EEF) 122 1050 170 | 260,000 260,000
BE5=a| 2E23gHEF 122 900 1702 | 290,000 290,000
B&=s| 252498@a) 122 600 170 | 235,000 235,000
B&5=2| 2523:9EE3) 122 700 1708 | 293,750 293,750
B&=a| 25259 E62) 122 600 174 | 352,500 352,500
B&5=2| 2523:9=73) 122 300 1708 | 411,250 411,250
B&=s| 25249 E62) 122 350 174 | 470,000 470,000
BE=a| Z3295@s5) 122 300 1742 | 355,000 355,000
BE&Es| IF3IH1@5) 122 1,200 | 1742 | 150,000 150,000
B&=s| 24321025) 122 1,400 | 17H& | 75,000 75,000
B5=a| Z429EN@E) 122 2,160 | 17HE | 343,000 343,000
BE=a| 2329812@s) 122 2,430 | 17H€ | 400,000 400,000
BEEEs| 43913@5) 122 900 170 | 240,000 240,000
BE=a| 223295814@s) 122 1,050 | 17H€ | 160,000 160,000
BEEEs| 22429815@5) 122 1,620 | 17H& | 80,000 80,000
B&=s| 2Z2432H62S) 122 1,890 | 17HE | 473,000 473,000
25=2| 259817325) 122 600 170 | 562,500 562,500
B&=s| 224321825) 122 700 1708 | 506,250 506,250
BEEEs| 242981925 122 1,080 | 17H€¥ | 393,750 393,750
B&=a| 2392225 122 1,350 | 17HE | 187,500 187,500
BEEEs| 2249220@s) 122 300 17Hg | 337,500 337,500
BE&=a| 23x9E221@8) 122 350 170" | 281,250 281,250
BEEEs| F2392@5) 122 540 170 | 225,000 225,000
B&=s| Z243223@5) 122 810 1708 | 168,750 168,750
BE5=a| 259843a5) 122 1,500 | 17H€ | 112,500 112,500
B&=s| Z48E25@S) 122 1,750 | 17H& | 56,250 56,250
BEEEs| 249926125 127 2,700 | 17Hg | 375,000 375,000
BE=a| 2239227@5) 127 2,970 | 17HE | 303,000 303,000
BE&Es| Z49E3@5) 122 1,200 | 17H€ | 112,500 112,500
BE=a| 239 52H4@5) 122 1,400 | 17H& | 75,000 75,000
BE&Es| 3985325 122 2,160 | 17HE | 37,500 37,500
B&=a| 239H62S) 122 2,430 | 17H¥ | 323,000 323,000
BE&Es| 23387325 122 900 1708 | 375,000 375,000
B&=a| 239825 122 1,050 | 17H€ | 225,000 225,000
BE&Es| Z498H9@5) 122 1,620 | 17§& | 150,000 150,000
B&=2 |20l gogr 13| 122 1,890 | 17H& | 40,000 40,000
B&=a (3o ol 1| 122 600 174 | 50,000 50,000
B&=2 |30l golEr 25| 122 700 17H€ | 80,000 80,000
B&=a (3o s ol 2| 122 1,080 | 17H€ | 100,000 100,000
B&=2 (308 g0l 35| 122 1,350 | 17H€ | 120,000 120,000
B&=2 |30 s ol 3| 122 300 1708 | 150,000 150,000
B2 |30 28 g0 g aF| 122 350 1742 | 160,000 160,000
BE=a (2o s Fol e 122 540 170 | 200,000 200,000
BE&=2 |30l o R 55| 122 810 1708 | 200,000 200,000
BE=a (2o s FolEp 5| 122 1,500 | 170 | 273,000 273,000
HaES mﬁ;‘ﬁﬁfmo 122 | 1750 | 1742 | 440,000 440,000
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=0{,52, 90l g0
2|-AM(2)10%
=0{,+2,F0 g0
2|-AM(2)20%
=0{,52, 40l g0
2|-AM(2)50%
=0, 55,30 Hr13l-
AM(2)
=0{, 53,90 gH12l-
AM(2)10%
=0, 53,30 EHr13l-
AM(2)20%
=0{,53, 90| gr12l-
AM(2)50%
=0{, 53,30 G23l-
AM(2)
=0{, 53, F0] Fr22l-
AM(2)10%
=0f, 53,30 g23l-
AM(2)20%
=0{,5=3, 90 Fr22l-
AM(2)50%
=0{, 53,30 EH33-
AM(2)
=0{,5=3, 90 F32-
AM(2)10%
=0{, 53,30 EH33-
AM(2)20%
=0{, 53, F0 F32/-
AM(2)50%
=0{, 53,30, EHr43l-
AM(2)
=018, 30 2742
AM(2)10%
=0{, 53,30, FHr43l-
AM(2)20%
=0{, 53, F0] Fr4az|-
AM(2)50%
=0{, 53,30 G#53]-
AM(2)
=0{, 53, F0] g#52|-
AM(2)10%
=0{, 53,30 G#53]-
AM(2)20%
=078, F0] 52
AM(2)50%
=0{, 53,30, Frezl-
AM(2)
=0], 72,30 B762-
AM(2)10%
=0{,5, 30, Erezl-
AM(2)20%
=0], 72,30 B762-
AM(2)50%
=0{, 5, F0 GHH73l-
AM(2)
=072, 30 2772
AM(2)10%
=0{, 53, G0 GH173l-
AM(2)20%
=0f,+2,F0 2772
AM(2)50%
=0{,43, 90 Fr8zl-
AM(2)
=0{, 55,30 & T83l-
AM(2)10%
20{,43} Q0| Et 183 -
AM(2)20%
=0{, 55,30, & 183l-
AM(2)50%
20{,43} Q0| Et 193
AM(2)
=0, 55,30, & 193]-
AM(2)10%
=0{,43, G0, F9zl-
AM(2)20%
=0, 55,30, & 193]-
AM(2)50%
=2(7)-1F
=E27)-1F10%
=E[)-1320%
=&(7)-1F50%
=&(7)-2F

122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122
122

122

122
122
122
122
122

2,700
2,970
1,200
1,400
2,160
2,430
900
1,050
1,620
1,890
600
700
1,080
1,350
300
350
540
810
1,500
1,750
2,700
2,970
1,200
1,400
2,160
2,430
900
1,050
1,620
1,890
600
700
1,080
1,350
300
350
540
810

1,500

1,750
2,700
2,970
1,680
1,470

170
1HE
170
1HE
170
1H
171
1H
171
1H
171
1HE
171
14
171
M=
171
IV
171
IV
171
IV
174
|
174
|
174 &
|
174 &
|
174 &
170
1742
170
1742
170
L=
170
L=
1HE
170
1HE

74g
I

396,000
352,000
220,000
44,000
39,600
35,200
22,000
88,000
79,200
70,400
44,000
132,000
118,800
105,600
66,000
176,000
158,400
140,800
88,000
220,000
198,000
176,000
110,000
264,000
237,600
211,200
132,000
308,000
277,200
246,400
154,000
352,000
316,800
281,600
176,000
396,000
356,400
316,800

198,000

70,000
63,000
56,000
35,000
140,000

396,000
352,000
220,000
44,000
39,600
35,200
22,000
88,000
79,200
70,400
44,000
132,000
118,800
105,600
66,000
176,000
158,400
140,800
88,000
220,000
198,000
176,000
110,000
264,000
237,600
211,200
132,000
308,000
277,200
246,400
154,000
352,000
316,800
281,600
176,000
396,000
356,400
316,800

198,000

70,000
63,000
56,000
35,000
140,000




BEE=s| E20)-2F10% 122 1,260 1708 | 126,000 126,000
HE=s =2 (7)-2520% 122 1,050 1748 | 112,000 112,000
BEE=s| E=20)-2F50% 122 840 4E | 70,000 70,000
BE5EE =2(7)-3F 122 630 1702 | 210,000 210,000
BEE=s| E=20)-3F10% 122 420 1708 | 189,000 189,000
HE=E| £257)-3F20% 122 210 1708 | 168,000 168,000
BEE=E|  E=20)-3F50% 122 1,890 170E | 105,000 105,000
BEEs =E(7)-4F 122 2,100 170 | 280,000 280,000
BE=E| E=20)-4F10% 122 1,680 1708 | 252,000 252,000
HE=s|  =20)-45F20% 122 1,470 170 | 224,000 224,000
BE=E|  E=20)-4F50% 122 1,260 1708 | 140,000 140,000
BEEs =&(7)-5F 122 1,050 170 | 350,000 350,000
BE=s| E=20)-5F10% 122 840 170€ | 315,000 315,000
HE=E| E=2570)-5F20% 122 630 1708 | 280,000 280,000
BE=s|  E=20)-55F50% 122 420 1708 | 175,000 175,000
BEEs L& (75)-1F 122 210 170 | 75,000 75,000
HEE=S| =2075-1F10% 122 1,890 e | 67,500 67,500
HE=E| =8(7.5-1F20% 122 2,100 170 | 60,000 60,000
HEE=S| =2(075-1F50% 122 1,680 0 | 37,500 37,500
BEEs L& (75)-2F 122 1,470 178 | 150,000 150,000
HEE=S| =£(75-2F10% 122 1,260 174 | 135,000 135,000
HE=s| =8(75-2F20% 122 1,050 174 | 120,000 120,000
HE=s| £807.5-25F50% 122 840 170€ | 75,000 75,000
BEEE =2(75)-3F 122 630 170 | 225,000 225,000
BHE=s| £2753F10% 122 420 170 | 202,500 202,500
HE=s| =£(75-3F20% 122 210 174 | 180,000 180,000
HE=s| £27.53F50% 122 1,890 170 | 112,500 112,500
BEE=E =& (7.5)-4F 122 2,100 174 | 300,000 300,000
HE=s| £27.5-45F10% 122 1,680 174 | 270,000 270,000
HE=s| =8(7.5-4520% 122 1,470 170 | 240,000 240,000
HE=s| E£87.5-4F50% 122 1,260 174 | 150,000 150,000
BEE=E L= (7.5)-5% 122 1,050 174 | 375,000 375,000
HE=E| =505-5F10% 122 840 1708 | 337,500 337,500
HE=s| =8(75-5520% 122 630 174 | 300,000 300,000
HEEE| £5(75-5550% 122 420 1748 | 187,500 187,500
BEEE i) 127 210 1708 | 320,000 320,000
25 =5@5) 122 1,890 1702 | 525,000 525,000
BEEESE =EA 50 2,100 170E | 350,000 350,000
25 =EA-10 50 192 1702 | 315,000 315,000
BEEE =EA-20 50 240 170 | 280,000 280,000
25 =2A-50 50 384 174€ | 175,000 175,000
BEEE =28 50 480 1708 | 262,500 262,500
25 =£B-10 50 576 170e | 236,250 236,250
BEEE =£B-20 50 720 170 | 210,000 210,000
25 =2B-50 50 768 170e | 131,250 131,250
BEEE =2C 50 960 178 | 175,000 175,000
BEEE=s =£C-10 50 960 174 | 157,500 157,500
BEEE =2C-20 50 1,200 170 | 140,000 140,000
BEEE =2C-50 50 720 170e | 87,500 87,500
BE=s =2D 50 900 0E | 87,500 87,500
BEEE =2£D-10 50 540 170e | 78,750 78,750
BE=s =2D-20 50 360 10E | 70,000 70,000
BEEE =2D-50 50 180 1708 | 43,750 43,750
BE=s =2 50 1,440 170 | 437,500 437,500
BEEE =8E-10 50 1,800 1702 | 393,750 393,750
BE=s =2E-20 50 1,080 174 | 350,000 350,000
BEEE =2E-50 50 720 1Y | 218,750 218,750
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